ML Meguro Language Center

JLPT N4 Kanji Quiz - 21/34 Answer
Bl 1 AT Bl FWLWA—=Yr—2% BWEL,

(1) FRAT 1 VxrZH 2 LZT¢ DxHY MAZD
2 FW 1 HH 2 LA <AN HEBW
(3) HWELE 1 5E65WELE 2 O WELE HWELTZ MNELT-
M2 biLoglls 8o g XT3,

(1) Bl 1 bbb 2 XX B DEH5LA
(2) #;w 1 L&D 2 o5 E2H D 7= _EH 0
(3) 1HFE 1 b 2 Wb B JiEL
13 LASAT Z0O IRLICHSOWT LAHFELE,

(1) LAZSA 1 B 2 B Feli! R

(2) 1F7sL 1 & 2 &t g

(3) LAHFELE 1 FeAHAEL 2 InAFELE FEHFELZ FEAFELE
M4 BREOIAT &TH LAEDR 0T WAWS BLXTWILEL,

(1) BBRIA 1 BSA 2 KREXA 3 RFEIN INBLE A
(2) LAt 1 #y) 2 i 3 HY) BlJ)

(3) BLZT 1 Zx2C 2 #zT |z T %z T
M5 ot Zonnd bl Zobiz LELLI,

(1) 1z 1 —h 2 M A Al

(2) 7= 1 = 2 T B FE U

(3) »bviz 1 bz 2 bbbz INsUl 0z



